
Rela­«o do a­o

S1 S3 S5

S6 S31 S39

A¢O
N DIAM

Q
UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 418 78 32604

2
5.0

24 24
576

CA50 3 6.3 113 119 13447

4
6.3 50 134 6700

5
6.3

52
139

7228

6 6.3 60 104 6240

7 8.0 28 133 3724

8 8.0 22 148 3256

9 8.0 12 153 1836

10 8.0 44 123 5412

11 10.0 14 VAR VAR

12 10.0 58 VAR VAR

13 10.0 10 137 1370

14 10.0 2 75 150

15 10.0
4 VAR VAR

16 12.5 10 94 940

17
16.0

4 121
484

Resumo do a­o

A¢O
DIAM C.TOTAL

(m)

PESO

(kg)

CA50

CA60

6.3

8.0

10.0

12.5

16.0

5.0

336.2

142.3

258.5

9.4

4.9

331.8

82.3

56.1

159.3

9.1

7.6

51.1

PESO TOTAL

CA50

CA60

314.4

51.1

Vol. de concreto total (C-25) = 6.8 mį

Ćrea de forma total = 60.33 mĮ
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